al™~

’ ,1/ The Goddess Kaila Devi is considered an

incarnation of:

Choose the most appropriate answer from the

options given below:

(A) Parvati

(B) Bhadra Kali

(C) Durga

(D) Mahalaxmi

(E)  Question not attempted

ST <t T o STFaR T T
frefefa faemedt & & waifirs Suges sov:
(A) UGt

(B) WEISHICT
(C) T

(D) weTeTEHT
(B) Srgui@ag

In which famous temple of Rajasthan do we find
rats by the thousands?
Choose the most appropriate answer from the
options given below:
(A) Karni Mata Temple
(B) Kaila Devi Temple
(C) Jeen Mata Temple
(D)  Ma Tripur Sundari Temple
(E)  Question not attempted
T % TR ufag afet § e i den o 9
T AT €2
fr=fafea fawedi § & gaifae Iugw IO TH:
\(;() ofT ATaT At '
(B) et <&t mft
(C) oy amaT wiet
(D) wf g gl aft
(B) wgRf@wd

JKL-Z10] =

3//\5; per the classification of musical instrurnents,

to which family does the “S:ktaara” belong?
Choose the most appropriate answer from the
options given belows:

(A) Ghan (13) Tat

(C)  Sushir (Dy Avnadhya

(E)  Question not attempted

AT A F ArET § cvganr f7m 93 g Htaa
27

frafafaa frredi § 4 waifus sagw 770 33

4K) T (B) ==
() g (D) A==
(E)  sraic 94

Mastitis disease is found in which combination of

following herd/flock?

Choose the most appropriate answer from the

options given below:

(A) Sheep and fowl

(B) Cattle including buffaloes

(C) Sheep and goat

(D) Pigand Goat

(E) Question not attempted
Frefeafian 2 & Rre g (579) & e (Wfiefom)
T ST 82

frafafaa faeedt § @ waifas sugew sw
(A) gl
&8y S 3w R ()

(C) g 3iami
(D) FIW IR TG
(E) Sgaiauy

[ Contd...



Name of the tiest cloned sheepwas

Choose the most appropriate, answer from the

options piven below:

(\)  Poly (B) “Rosic
©)  Molly () f:bfony
() Question not mtmnpmtd:cf
TR el A Y T NG T AW AT
ﬁﬂ%%ﬂﬁmﬁﬁwmwg?ﬁwzﬁz
NEORR ISl (B) UsH
(C)  w (D) =gt
(E) TR v o
-
=

! .
Granular white ghee obtained from buffalo is due

to the feeding of ,cakes.
. Y N

Choose the most appropriafej answer from the

options given below: (R

(A) Groundnut (B) Cotton seed
(C) Mustard (D) :gifjnseed
(E) Question not attempted’

¥ ¥ 9w & W TR A A fo 3
ﬁ@a%ﬁaars‘aw;%l

mmﬁaa%aa‘mﬁwaﬁ&mmwaﬁ
() e By
© (D) :ﬂ?ﬂﬁ
(E) 3?3?111?{ B =it

% L5

9 Which of the following is (the tallest breed of
sheep in India? ((::;
Choose the most appropriaté) answer from the
options given below: o
(A) ~ Nilgiri (B) Nellore
(C)  Deccani (D) “Bikaneri
(E)  Question not attempted:,
frfofaa § & wra # g &l HH-d T g
=t 22 ¥
ﬁmfaﬁaaﬁmunwﬁbmmmaﬁ
(A) Hrafnr wif) e
(©) Et (D) sfeRrd
(E) SIafaqd

JKL-7Z10] =

8

The difference between principal and simple
interest for 5 years at a rate of 6% per annum is
T 3500, then the principaliis:

6% ATftiah =TT 21 27 & 5 AUt =BT g ST AT

SIS 1 AT 3500 2, A1 FJere 2:

y— T 4500 (B)' T6000
(C) T 4000 (D) 5000
(E)  Question not atten:x;;tcd / Cﬂ':ﬁf‘?r a4
[f%—of.\'~% fy =§T0f,.,lhenx:y:v:is
A Jyw ok
(A) 16:15:18 (B); 5:4:3

6:12:20 (D); 18:16:15

4 <
(E)  Question not atte?];zted / I3 94

A man buys an article a;l;%lprice 20% less than its
marked price and sells it at a price 20% more than
its marked price. His profit percentage is:
e ek fohet ag ot Sifehd qo 8§ 20% %9 T
mmm%aﬂrmwv 20% 3= geT
ST T 31 3Hek T an-ruﬁm?r%
(A)  50% JBY 40%
©)  45% D) 35%
(E)  Question not atterﬁbted / BE:H&HSP:T

=
Which of the following
passes through Rajastha:ﬁ?;

National Highways

(A) National Highw ay uo 73
(B) National Hn::h\\a) n)o 83
(C) National Highwaymno - 11
(D) National Highway no - 40
(E)  Question not attempted

mnummmmmﬁa

ey & ey
X9 mémuarm?wn 73

B) méimﬁrtrmu@qr, .s,
(C) U U=t " - 11
(D)  USHT TTHRT &= - 40
(E) i us
[ Contd...
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127" Palash forest is a sub-tvpe of which of the

3

following forests in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A)

(B)
(@)

(D)
B

Tropical thorn forests

Tropical‘dry deciduous forests

Sub-tropical mountains forests
Mangrove forests

Question not attempted

T ° U & 99 Efeiad § 9 f5g a9 357
& T TSR

HEAREd [qeedl ¥ 9 gaifare 3ugw 39T a9
- D

(A)
(B)

ELEUEA G131 0f [ QOTITT 99

el i ketiekr

(D)
(E)

S N aq_
S ERCRC]

,13/\\"hich of the following statements is correct
about Salar forests in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A)
(B)

©
(D)

(E)

Pine is the chief tree of these forests.
These forests are found in only the plain
areas.

Its wood is used for making packing boxes.
It is found in Jaisalmer, Jodhpur regions of
Rajasthan.

Question not attempted

fatanad § 9 % H-91 F99 TS & Gl Al &
I HeT 2l
FfaRad faaedl § § aaiiered 3ug I 94

(A)
(B)
©

=T 39 a1 1 W e Bl

T 99 Fad 92T &1 7 919 A1 8

THFT ATl &1 T4q0T QfdT znw Geicl:|
Terar STt €l

Jn/a?mﬁaw ST 47 5 qrT ST

(E)

JKL-Z10]

Rl
ST 94

J4a

15

Who is the Science and Technology Minister of

State (independent charge) in Rajasthan (as on

September,

2024)?

Choose the most appropriate answer from the

options given below:

(A)
(B)
©)
(D)
(E)

Kal Raj Mishra
Bhupendra Yadav
Sanjay Sharma
Bhajan Lal Sharma

Question not attempted

T § fas 3R aehTehRT TeF HET (ST TIT)
I (fgamg, 2024 1) 27
frafefad faeredt @ & watfies sug s 94

,cA/ A T i

(C)
D)
(E)

O AT
e It

O AT 9T
3t 99

Shri Janki Lal Bhand, the famous Rajasthani who

was given ‘Padma Shri’ Award in 2024 is an

artist of

Choose the most appropriate answer from the

options given below:

(A) Ghoomar folk dance
(B) Pottery Art
(C) Painting
(D) Bahrupiya Art
(E) Question not attempted
TSTEAT o 2f1 ST STt Wi forg 2024 F <ua 2
TEHT § FRITTE fofam % FHATHR 8|
frfefiae fawedl @ @ waifaes Juges s :
(A)  TREFTA
o (B) U (FweTl) Hell
(C)  fempe (iifem)
(D) TR He
(E) orpafea vy
[ Contd...



l}(,/ Which of the following departments has imposed

a ban on the manufacture, import, stocking, sale

and usc of plastic carry bags in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Information and public relations
department

(B)  Rajasthan State Pollution Control Board

(C)  Education department

(D)  Tourism department

(I£)  Question not attempted

frafafaa & @ Tomam § forg faam 3 wnfes
Frafafaa fasredt 4 @ watferes Iag™ ST TH:
(A)  F=1 U Saeass fanmr

_A5) T R vgwor e

(C)  farer foram
(D) udea fam
(E) wqaiayg

J/Which of the following villages of Rajasthan is
winner of the “Best Tourism Villages
Competition-2024” in  the category of
‘Community Based Tourism’ by the Ministry of
Tourism Government of India?

Choose the most appropriate answer from the
options given below:

(A) Ranakpur (B) Deomali

(C) Kuchaman (D) Kumbhalgarh

(E)  Question not attempted

TerEaT 1 frefarad § 8 FiF a1 g 9iRd 0
1 A g i afaETar-2024" T fasr e

frtferfiaa fasredt § @ Aaifers I9gw SAUTH:
o TR (B) ATt

(C) FaAPH (D) T

(E) SIuia 94

JKL-7Z10] =

]'B/Two articles are sold at the same price. On one

article the shopkeeper gained 15% and on second
article he lost 15%. What was his overall

percentage gain or loss?
(A) 29 % loss

(B) No profit no loss

©  2%% gain

(D) 17 % loss

(E)  Question not attempted

2 TR THE e WA STt 81 geedt 9w W
FRTER 15% T TTH HeAT € S a8 T 15 %
Hﬁm%lmmaﬁwmmw%’
(A) 21%@% B{qam ERSIES

© 2%%E™M (D) +o%wf

(E) agaﬁaw _n

by-
If 85V -2 Xy 18)” = 0, then the ratio x : v is:

afg 8x2 — 24xy + 182 = 0, A x - ) T T &
(A) 9:4 By 2:3

(C) 3:2 (D) 4:9

(E)  Question not attempted / Cﬂiﬁﬁﬁ a1

The ratio of present ages of x’and ‘v'is 3 : 2. Six
years ago the ratio ‘of their ages was 5 : 3. The
sum of their present éﬂes is:

% HIT ‘y’ ST T Y T I 3 2 2 81 S: a9
ﬁwﬁaﬂmaﬁms 13 mlsqﬁa'c’frrmaq
T AT &:

(A) 75 B) 50

Sy 55 D) 60

(E) Question not attempted / 31@\'*1]326 s7

.,Z/I/If of x= 5 ofv then by what percentage x is

more than y‘?

M xH =y WL, @y ¥ R v

afrmdy

(A) 25% (B) 10%
C 20% 5%%
( )/ 0% (D) 15

+(E)  Question not attempted / 311?1[(6 I

| Contd...
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JKL-Z10 ]

Which of the following dam projects is not

situated in Rajasthan?
Choose the most appropriate answer from the

options given below: 0]
¥

() Damodar Valley Pr;ojqcl
(B)  Sidhmukh Dam Pn{j’c;ét
(€)Y Mcja Dam Project '

(D) Jawai Dam Project

(E)  Question not attempted

ﬁw%%ﬁﬁﬁaﬁ#maquﬁuﬁwmwﬁ
femadid "i

i

ﬁw%%aﬁmﬁﬁaaﬁba;mwﬁ

'l,

C(A)  STEIRT HTE gfwEiSE,
B) e aty afasm
© FsmatrafeeEn L
(D) & " gfEsEr
(E) qaid 9ef f :

P

Where is Panchana dam situated in Rajasthan?

Choose the most app:’on;_:}qle answer from the

options given below: g
. ()

(A) Sikar -
(B) Bikaner (N
< wl

(C) Karauli i)
(D) Kota w3

(E)  Question not allcmptsed
T AT TSTEATE H el g 22
Frefefia famedi & & waifad Jogw 3o -

() dr
() e €
(D) =T

(E) @Auita w4

6

\2/‘/ «Hamel” is an ornament worn by the Rajasthani

women around/on
Choosc the most appropriate answer from the

options given below:, .

LAY Neck . (B) Head
(C)  Ankles (D) Waist
(E)  Question not aifemptcd
QU T ST R

T@vﬁmﬁﬁmmmgﬁz
) T ®  fr
© @&

(D) =HL
AN I

From which “ApabhvrAaifnsa” language, did the

Rajasthani language not 'evolve?
Choose the most approprlate answer from the

options given below:

(A) Magadhi Apabb;iamsa
(B) Shaurseni Apabhramsa
(C) Nagar Apabhra';rjana

(D) Marugujari Ap'rz;fi}:]ramsa

(E) Question not at:t‘e'r:npted
et e 5 e forg cormier T ¥ &
TATR?

(A) TR ST (l'(:B) YRET STaHw
(C) TATRIATHY (D) HRE TS U

J,Ea/aaf{aﬁ?m%r i

e
The poetic text which descnbca the greatness of a
king, his conquests, wars and valour is called:
Choose the most appropriate answer from the
options given below: iy
(A) Prakas ~(B)
(C) Vigat : , (D)
(E) Question not attempted
g e T, SU ferelt, ST R Herar, 39t fas,
& 3T AT T Q0T AT &, AT -
frafefaa faeweat t‘rﬁwaffﬁa?mwa%
(A)  TTd »(m ESH
(€) fame (D) TE

(B)  orqafa g

Veli
Raso

[ Contd...




s . . . .
2/7’ The singing of Rasia accompanicd by the playing
v of Nagada is associated with which type of

dance?

Choosc the most appropriate answer from the

options given below:

(A) Bamrasia Dance

(B) Ghoomar Dance

(C) Kalbeliya Dance

(D) Terahtali Dance

(E)  Question not attempted

TS & | W M foRg e  wefta 22
Fraferfia frredt & warifires suges s g
e e

(B) I

(C) W&t I

(D) STt o

(E) SAgaRa

Name the first Chief Minister of the United State
of Greater Rajasthan.
Choose the most appropriate answer from the

options given below:

(A) Mohanlal Sukhadia
(B) Bhairon Singh Shekhawat
(C) Hira Lal Shastri
(D) Jai Narayan Vyas
(E)  Question not attempted
T deq TRIH Yol & Jed JeanHt &1 Am
ECIMW
frfafiaa faenedt 4 @ waifas Jugw SO
(A) WA gEtear |
(B) i fde TramEd
ey e e aE
(D) g TG AT
(E) orgaf@ysd
JKL-Z10] =

vz9/ In which year was the Jaipur Praja Mandal
formed?

Choosc the most appropriate answer from the
options given below:

fer = o SrAqT ST Hrew e ge

i few T et # & wae 3uges Iow I
(A) 1934 (B~ 1931

(C) 1932 (D) 1933

(E)  Question not attempted / a@ﬁﬁ'ﬁ 91

\}0/ Where is the ICAR National Research Centre on
Camel located in India?
Choose the .most appropriate answer from the

options given below:

(A)  Dungarpur (B) Jaipur

(C)  Bikaner (D) Jodhpur

(E)  Question not attempted

T TS Y T TR 6T U S 76 3% el
W e d?

fretefaa foredi & & waffaes suges swo:
(A) SME B) ki

45 i (D) g

(B) 3rgui@ws

31/ Which of the following is not a crossbreed cattle
strain?
Choose the most appropriate answer from the

options given below:

(A) Frieswal (B) Sunandini
(C) Karan Swiss (D) Rathi Gir
(E) Qixestion not attempted
freaferfae & & e warefy & st e 7t 2
Frerfiefia et i & errffires e sw
(A) hrEaET (B)  gHAfe
© wEfam ) w&ific
(E)  7gaf@ wa
7 [ Contd...
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\,3/2/\\’hich of the following is known as the milk city

of India?
Choose the most appropriate answer from the

options given below:

(A)  Gandhinagar
(B) Anand
(C) Asansol
(D) Durgapur =i
(E)  Question not ullcm:ﬁi%d
Frerferfam & & et e 1 gt et (Freeh i)
HET STl 82 ‘-“f
ﬁm%f@‘«rﬁ%tﬁqawaﬁ‘wmwm
(A) T
(B) 3mvig
D) g <
(E) 3 o1 ‘(\
N

Y
To see an enlarged image-of the teeth, dentists

use-

Choose the most npprop}j{ate answer from the
<78

options given below: = (73
: O
(A) Kaleidoscope o
(B) Planc mirror R
(C) Convex mirror l:i’
L

(D) = Concave mirror

(E)  Question not altempted

mwaﬁﬁauﬁﬁaé@ﬁmmaﬁ%mm
iﬁﬁii;‘*ﬂiﬁﬁ ié%wl ﬁ@t Hja' ,?aaﬁ 303?}5 Wﬂ_:f
AT SeITEERERT o

(B) @Hae q4ur 3

(C) I qUU

(D)  ITEde g4 -

(B) STIai@ud
JKL-Z10] =

e
34

y
With reference to the reflection of light. which of
the following statements are correct?
- i i N .
a. The lieht ray which strikes any surface. is
g h 1Ct
called the incident ray.
- L) N
b. The incident ray and the retlected ray. both
R ?

are perpendicular.to each other.

The angle of incidence is always equal to the

o

angle of reflection. #*
d. The angle between.the normal and incident

4 I} .
ray is called the angle of reflection.

¢

~ 4

Choose the maost appropriate answer from the

. - \
options given below:

(A) aandconly -
(B) a.banddonly
(C) b.canddonly L‘
(D) canddonly L J
(E)  Question not atééglpled

s i, P e

o

/maﬁrmmmmwmom
s T e &)

b. mﬁﬁmamﬁﬁﬁmmwwa
REECRRIE] (;:.s

/mﬁwaﬁ‘aw&xﬁqa‘m%mg‘m%l
: (ﬁﬁméﬁgmﬁﬁm%wwaﬁm
T GG HIVT FE &

ﬁﬁqwﬁwwaaﬁmmmm,

o Feasine ;»i
\y@fy/%aﬂa,baﬂmi'
& FaAb, c 3 d
(R) e c3Rd

(E) rgafa o
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When light falls ona shiny surtaee its divection is

changed. This ix called ol lirht
Choose the most appropriate answer from the

options given below:

(\) scattering (BY  retlection
(€Y refraction (D dispersion
(1) Question not dttempted

fordll THEIR TaT T VI &7 37969 2 W 30!
ﬁr‘fﬂqi’{aﬁﬁ“}wb[?ﬁwm

ERGEN
ﬁm%ﬁ?r%m&ﬁmﬁbmmw-ﬁ
vl

(\) ey ) Wa?h

(©) FWEAT (D) uitEer (Feausy
(B)  o7gaia ws

e I )

)

Who was the founder of the Jat principality of

Bharatpur. !;" ',.‘

Choose the most approprzarc answer from the
options given bglo“ t

(A) Badan Smgh ¥ (B) Churaman

(C) RajaRam fos (D)  Surajmal

(E)  Question not attempted

W%mfrﬂm%mﬁ?%
ﬁqmmmﬁwaﬁmmaﬁl

(a) =eafge O A

(C) TS '{ (D) T

(E) 3Jaied 95, ¢

[
Woman saint Daya Bai was a disciple of

Choose the most appropriate answer from the

options given below:

(A)  Saint RamDas

(B) SaintRam ((;Zﬁamn

(C)  Saint erblmydnkar
(D)  Saint Charan'Da:

(E) Question no}pltunplcd

Afeen e gamad o farean o

(A) u’amam‘ v
@) T
(C) aaﬁmm Q
(D) | <07 QS
JE)/mﬁ?rsrer .
JKL-Z10] = (_;',

38

as”

9

Which

-~

famous  temple of Rajasthan became

representative of the “Haveh™ form of temple

architecture?

Choose the most appropriate answer from the

AR
]
options given below:

¢

\) 'I"cmplc.btf Parsvanath
el

(BY  N¢ 1llul\\(.1m temple

. Xy

(@) Pushkm‘;k)mplc

(D)  Temple of Nilkanth Mahadev
.‘-_v]",

(E)Y  Questionnot attempted

.
TR 1 SHH-01 IR v, i<z argswen =
. ~ Ol 5
gactl W?ﬁf(qia ffer s
Frefefas freedi § & @aifires s9gwm 39 94
LN )

(A) sk =7 AR
(BT e
(©) Wtr%%
(D) W«}mﬁammﬁt
)
(E) S
-
Mendel  performed  his experiments  of

hybridization ou:
1~

Y

Choose the most appropriate answer from the

options given bclo\\
\|

(A\) Sweet Df‘«ﬁ (BY  Albino mice

(@) Dmsopiﬁﬂl (DY Suntlower
¢

(E)  Queston not attempted

EER ﬁsmﬁ@nﬁﬁm‘mﬁmmﬁms\rr
!
fFrerfafiaa faement i @ waffis soge ST

() MR Ja T
() a\rmﬁrar\, (D) el
() NRHI{HSN

Cf\

| Contd...




\;l(l/ Which of the following are the dominant traits for
seeds of parden pea plants?
Choose the most appropriate answer from the

oplions piven below:

(A)  Yellow and wrinkled

(B)  Green and wrinkled

(C)  Yellow and round

(D) Green and round

(E)  Question not attempted

frrerferfir 5 A a8 ST et 6 el % sl %
for et wraror &2

Frferfia foreredt & & warifores Tuges a0
(A) i i gier

(B) &0 SR Fler

(C) el SR T

.LB?/‘ B AR M

(E) SAgafaus

v

Which of the following is notalaw of inheritance?
Choose the most appropriate answer from the

options given below:

(A) Law of Dominance
(B) Law of Segregation
(C) Law of Independent Assortment
(D) Law of Dwarfness
(E) Question not attempted
frefafaa 3 & FF-ar sraified & fam ad 22
frefafaa famedt § @ waffas agw sw g
(A)  warfaar =1 fam
(B) e T
ey wd s9eed &l fam
(D) @Y & FEH
(E) gufed 94
JKL-Z10] =

\42/ Match List-I with List-11
lzlﬂ“‘l
(I'railt A)

List-11
(Contrasting
trait of Trait A)

i, Axial position I.  Yellow
of flower

b.  White colour II.  Terminal
of flower
Green colour of sced . 11, Round
Wrinkled shape IV. Violet
of sced

-1 o w11 A frem -

eft-1 -1

(Fervrgar A
& faudra fagraam)

(Frvraam A)

a. H’W?—ﬁfﬂﬁﬁﬂﬁ"lﬁ I. Ll
b.  q I T &1 I 3faea
c. ST L. e
d. fewglierame v, @

Choose the most appropriate answer from the
options given below:

et few e fereredt 3 & warffires Iuge sat <3
WK) a-UILb-Lc-IV,d-1II

B) a-IlLb-Ic-I,d-IV
(C) a-IL,b-ILc-1V,d-1
(D) a-I,b-1V,c-1,d-1l
(E)  Question not attempted / ﬂgﬁfﬁﬁ%

\,4/ Where is the Mechrangarh fort situated in

Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Jhalawar (B) Jodhpur

(C) Jaisalmer (D) Jalore

(E)  Question not attempted

ST § REUTE fofetr et e 22
Freferfi R & wratfores suge s,
gy T (B) g

(C) SR (B) <R

(E) i@y

10 [ Contd..,
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WS

()

The Junapahe fone is sted i which ey o)
Rajasthan’!
Choose the most approprlate anvawer tiom the

options paven below;

() Bikane (I Jaipan
(Y Kot (M Bame
(1) Question not n(lmnplul

T BB 2060 g (e fovi
f- ﬂuh A Free W fas e a2

(A R RET
() whm oy e
NIERIGRARE

Mention the date on which the Princely State off

) N §
Bikaner formally integrated into the United State
of Rajasthan?
Choose the mostrappropriate answer from the

options given below!

(A) S April 104& MY 7N April 1940
(C) 8" April I‘H() (D) 7MW April 1948
() Question nol attempted

3o fofy @1 9w i s sieme al usa
=i w9 H‘{{'ﬁ TseT wor A wfemfert @
™

ﬁwﬁwﬁaﬂﬁwﬁﬁﬁwﬁ%mmt"ﬁ

(A) 831948 (B) 73T 1949
8 3T 1946+, (D) 7 31T 1948
() eruf@ws ™

\.46/ Air rushes into the lungs of a human being during

vl
Choose the most appmprm!c answer from the

options given bclow

(A) Neither mhal.umn nor exhalation

(B)  Inhalation , t

(C)  Exhalation

(D) Both inhalation and exhalation

(E) Quubli(m not attempted

e A 5 d1ee arg Sl ol )

ﬁrmﬁfmﬁam‘rﬁfmaff&maug‘ﬁw( [
(A)
) AAuA :f,

(C) afaua

(D) & sia: Wdﬁ( afeaa

(E) i@y :,, '
KL-210) = '

A7

v

Nt st Dawathe ea 18

FoAwt b (DIvense) A1 (Cousal orpanism)
o Clhieken poy 1 PProtoson
Funy
AT
Hactena

b Pyphoud .
¢ Mol 1,
. l{in;-_\\'unn:‘ I,
Al e e e Bk,
gl @i el e fie
ST EY T U (R A BT A Y] R T

b O e

e e ”f it fasnog o
. ':l-:(“.'ldl{) IV, un-u'{[(&lmmnn)

Choose the moyt appropriate answer from the

( !

options piven l)g low:

N fav u faegetdl waffirs JogeE st

() a=-IVoballie - d -1
V) A HL BV, c- 1 d- 1
(Y a-IV. b e-10d -1
R T L L T R AV
(1) ()ucslinin hnl attempted / ZHEI)HR'(I aer

-

g~

Select the pml')lé‘,jms which are not caused through
polythene. ‘

. Cause hugdle in drainage system

b, Cause of degth of cattle

¢.  Causce diseages like asthma and jaundice

d. Allow thé frivin water to be absorbed in the

soil 2
¢.  Danger to tertility of soil
Choose the mogt appropriate answer trom the

options given below:
]

(A accandeonly (B acdand ¢ only
(@) banddionly (D) cand donly
(1) Questianshot attempted

SN @ PR SN diferh & wreor Tl D Q)
A S rﬁ ST T T
2. SRR SRy

¢ orenr INT IR R AnY <1 R
ol and srsr TR st @3

e W@ s & R aau

MR fawu i xnfr«ﬂ N A waffore Iugw 30t T

—

(A) AR, wﬂu (M) e a, d AN e
N (%) hnmlmﬂm (D) IS ¢ T
() auulmml

[ L}
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In which city of Rajasthan is the “Desert Festival”
held every year?
Choose the most appropriate answer from the
options given below:
(A) Pokhran (B) Jodhpur
(©)  Jatsalmer (D) Barmer
(EY  Question not attempted
e & e v § wiied meeyd wRieaas
STt faRan simar 2
fr=fafiad fowcdt 3 @ waifae Iuged 3T TH:
(A) R (B) SMH{
ey SEaEt (D) dER
(E) Suia I
Which Rajasthan city plays host to the Camel

Fesuval every year?
Choose the most appropriate answer from the

options given below:

(A) Jaisalmer (B) Jhunjhunu
(C) Sikar (D) Bikaner
(E) Question not attempted

TS T SHI-6T T Yidad 3% Halcad i
q\\:ﬂﬂq’] qﬁ(ﬂl%‘)
Frfarad fasedl § § Haifere 3ug SOl I

(A) AR (B) L
(C) H&x D7 HFR
(E) Faita 94

What is the predominant material used for men’s
clothing in Rajasthan, since times immemorial?
Choose the most appropriate answer from the

options given below:

(A) Silk (B) Cotton

(C) Polyester (D) Terricot

(E)  Question not attempted

TTEd ¥ U |y & g afvar & ferg ferg wenme
T € ITATT § ST 14T 2

frfeiaa fasedi & & aaffas Iugwm IR T
a) foew sy

(C) vifeget (D) efwre

(E) Srgaia 9

-Z10]) =

12

&

\5‘?/ Anacrobic bacteria digests animal waste and

The biogas is then

produces biogas (change-A). .
The following

burnt as fuel  (change-13).
statements pertain to these changes.
Choose the most appropriate answer [rom the

options given below:

(A) Nonc of these processes is a chemical
change.

(B)  Process-A is chemical change.

(C)  Process-B is chemical change.

(D) Both process A and. B arc chemical
changes.

(E)  Question not attempted

I A 2 (FfEdT A)l Rt e w1 39 % =Y
T ST STt & (afEds B)| fre e 37 aftee =i |
FrEfd 2

frefafa foeredi & & waffare sugw 39t I4:

(A) 3§ 5 ff yHn & TEEfE giEdd
T B

(B) UfshaT-A T THTE 9itad €l

(C) fshan-B Uk TETEfTeh ftad 2

(BT R A 3R B SFT TaTfTE afedT )

(E) Irgaiawy

Which of the following statements are correct?

a. Physical changes are reversible and stable.

b. Chemical changes are irreversible and stable.

c. Physical changes are reversible and unstable.

d. Chemical changes are irreversible and
unstable.

Choose the most appropriate answer from the
options given below:

(A)

aanddonly  (B) aandb only

©) (D) cand d only

(E)  Question not attempted
frafafad & 8 w98 e ad

a. wiifes i IoEmiy ok for S 3

b, TraTafR aRerd r-3ormuia st ferm 2 3
¢ ¥ifaeh fterdT Iy si sifer Ay 2

d. TR 9P sl i s a3
ﬂ%ﬁqwﬁm‘ffiﬁmﬁ%ﬁmwgﬁ,
(A) FFasid  (B) FEwrasivy

(©) wFa@baite (D) *Haet ¢ 3 g
\(ﬁd/aﬂﬂﬁaw

b and c only
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477 Thisnon-metal is a good conductor of clectricity-

Choose the most appropriate answer from the
options given below:

(\)  Graphite

(BY  Bromine

() Sulphur

(DY  Cual

(E) Qucs(io'n not attempted

T ST forera 7 gemers @

Frfafa fawed § & gaffe suge so o

Nl s cc
(B)  HHH
(C) T
(D) wFEaT
(E) STgui@ws

.
s

567" Which of the following physiographic features is

not found in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)  THadoti Platcaus

(B)  Aravali Mountains

(C)  Thar Desert

(D)  Coromandel coast

(E)  Question not attempted
Frfafaa & w9t w.amafa o § 9@ anft
STt 2

ﬁw%@aﬁmﬁﬁwﬁ%wg?ﬁwaj;
(A) TSIl 98K
(B) 37det gdq

(C) U H&Ede
DY BRHET a8
(B) 3TaRd wo

VSAhe metals that produce a sound upon striking a

hard surface are said to be \S/Alluvial soil is found in which of the following

Choose the most appropriate answer from the
options given below:

(A) Lustrous

(B) Malleable

(C) Sonorous

(D) Ductile

(E)  Question not attempted

9 4Tq ST FSR Fa§ W TeR F & eaft 3= o
Frefefae faeredi 4 @ gaffas I9gw 39t TH:

regions of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)  Western and southern part of Rajasthan
(B) Northern and eastern part of Rajasthan
(C) Northern and western part of Rajasthan
(D)  Eastern and western part of Rajasthan

(E)  Question not attempted

STelg et UsTeer & e 3 & forer & F arft et
22

Frefefiaa fommedt o & waffire uge s

(A) =HA (A)  TTEAT T gfer} 3t efioft wor
(B) sTaTaed (B) TSI T Iadt 3R qaff sy

ey et

(C)  TSTEAT T 3ot 3T qfedfy oy
«D5) TSTEATH o1 GefT ST aferedt sy

(D) @3
(E) Srqui@yyd ) Jeers
JKL_ ZIO ] 0— 13 [ Contd...




V58/‘Ghagghar plain is a sub region of which of the
following physiographic divisions of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A)  Eastern-plains region

(B) Westerni.desert plain region

(C) Aravalli iﬁgion

(D) Semi- "md dry region

(B) Quc<t1011 not attcmplcd

TR FT A mﬁ & forg “fimiferes fenTrs ot

THIET?

frfafan foshedl 8§ & waffas sugw sat T
AT o e A

(B) qfarﬁum?ﬁaﬂaw &

(C) Faclt &

(D) - &

(E) aqg?rﬁaw

jQ/ Devendra Jhajiizifia who was elected as President,
Paralympic Commmee of India for 2024-28 is

related to the sport of:
NI
Choose the most appropriate answer from the

options given below

(A) Long Jump (B) Discus Throw
(C) Javelin Throw (D) High Jump
(E) Questioﬁ ot attempted

W ET AR S 2024-28 I W F oTeAE
= AT e e ¥ gEE 2
EL=IIER] lcicbc—qm‘ém'crfffra;mmaﬁ

(A) arznaa—c: v O ferearar o
(C) WEFE By SR
(E) aiaya

—6(/How many seats vere won by the leading political
party in Rajas{han Assembly elections held in~
20239 o
Choose the most appropriate answer from the
options given bélow.

2023 ¥ Tewr-faarraar g 7 stmoft aseifaen

et 2T Forrt 63 Sfieft eff

frfafiad ﬁﬂ;r—q] 4 @ @aifers 3ug ST

(A) 135, (B) 129

(C) 108 1y ) 114

(E) Question not attempted / 3TTAfE W
JKL-Z10] =

14

lgl/thn was Maharana Pratap crowned as king?
Choose the most appropriate answer from the

options given below:

(A) 28" February 1575
(B) 28" February 1572

(c) 28h Fcbruary 1573

(D) 28" Fcbruary 1574

(E) Qucstlon not attempted

TR smw?f TSI 3 9 T TSITET e dTedi?
frefafad freredt 8 & Fartfires SUgw 37 I4:
(A) 28 ®LE 1575

(B) 28BN 1572
ey’ 28 wff 1573

(D) 28 mﬁ 1574

(E) :ﬂg?r&aw

1)

\,62/ Name the famous form of Rajasthan folk theatre.

Choose the most appropriate answer from the

options glven “below:

A) Bhawa1 B) Dashavtaxj
" (C) Jatrd (D) Swang

E) Queét;g)n not attempted

TSTEATH & Ui SAieh QTH T 19 Fd1EY
freifan Reredt # & Fartfire sogw s
AY VT (B) TR

© s ©) @i

(E) aqgaj’gw

¢

63/ In how many main groups has Dr. Grierson
divided the, Ba_]astham dialects?

Choose thé srost appropriate answer from the

options given below:

<7, adq Y usear Sifeay ﬁmﬁrr@mﬁ
ﬁmﬁm%m%) '

:ﬁ%ﬁqﬂqﬁmﬁﬁmmm =
A7 s g
< 3 H , (D) 4

(E)  Question not attempted / Slq?l'ﬂ’rf T

[ Contd...
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The oxyeenated blood is transported trom heart
(o various organs ot our body through-
Choose the most appropriate answer from the

options given below:

() Lymph

(B)  Arteries

(€)Y Veins

() Both arteries and veins
(Y Question not attempted

SIS SR §eT § TRR & v o & e
T ST ST
ﬁﬂ%ﬁ:ﬁ%ﬁﬁéaﬁ%wﬁmgﬁ:
A\ fore e

(B)  umiwat
QRN

(E)  SYIuia O

\/6'7/ Which of the following are the parts of human

male reproductive svstem?

a. Uterus

b.  Urethra

¢. Prostate gland

d. Fallopian tubes

e.  Vas deferens

Choose the most appropriate answer from the

options given below:

(A) bandeconly (B) a,bandeonly

(C) a.canddonly (D) b,candeonly

(E)  Question not attempted

efafad § § SH-97 9199 T YSHA §F B SJ07 82
va. YT

b, T ()

¢, wneufy

d. Raarfew

c. Yhdlgsh

Fer few e feraedl @ waffores Iugw IW T
(A) FacbafiTe (BY ¥t a, b 3 ¢
(C) Mawa,c3iNd4D) Faeb, ¢ 3ilTe
(E) 3rgafta wu

Ki.z10)] =

Y33

Which of the following oI\ dance tomms is mere

popular in the Udaipur region of Ryjasthan?

Choose the most appropriare answer {from the

options givea below:

(\)  Dhol Dance (B

(Y Kalbeliva (D)

() Question not attempted

TS & IR 87 F FH-91 aF 309

RIREE:

Prafirfre frest § & wraifires soge s
(A AETH (B) SEuew

(©)  FIEsteaar (DY R
(E) 36l W5

Bamrasia

Bhawa

Name the Saka Kshatrapas who controlled the

popular tounist destinations of Pushkar?

Choose the most appropriate answer from the

options given below:

(A)  Rudra Simha III(B)

(© Yashodaman1 (D)

(E)  Question not attempted

I S 37 FT 7 Faid 59a Sh?\i*: SIEI

e e = e

i fasedt 3 & waifYs svge s

(\) IRRRTIL (B) W1

(C) I 1 (D) TEYET
V(.E)/agaﬁaw

Rudradaman 1

Nahapana

-
L6S

Rajasthan  E-waste  management policy  was

formed and invoked in Rajasthan in the yvear

Choose the most appropriate answer trom the

options given below:

T $-omfiy e Hfifa &1 smam § ey
T A forur mm)

Frerferfaa fowedl 3 @ waifis sogew swoah

(A) 2024 ABY”

(©) 2022 (D)

(E)

2021

2023

Question not attempted | JAART W
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The difference between compound interest and
simple interest on a certain sum ol money for 2
years at 4% interest per annum is T 40, then the
sum of money is:

e Fifera AR gt 40, anfifs st ) e 2
T =I5 [ T ST WML STST T ST 40 2, 70
du \FI'U@T b

(A) ¢ -3 * 18,000 (3)
(C ) 3 " "5 000 (D)
T “»g)ucs(ion not mlc.mp(cd /Nﬂﬁﬁﬁ i

(-

T 20,000
T 15,000

_/7({ A certain amount of money becomes thrice in 5

\urx nl compound interest at a rate of 12% per
annuknwl ‘In how many years it will become 9 times
ofnlat‘lf’

) SY ears
(C) L( 17 Years

15 Years
10 Years

(B)
(D)

(E) \Qucsnon not attempted

rﬁfﬁwﬁlv%uﬁra&aﬁ@maﬁaﬁ
5aﬁﬁaﬁ:m=ﬁa‘raﬁﬁ%|azmﬁaw’fﬁmaﬁ9

nﬁa‘tmwﬁ‘

Ey sam (B) 1s5ad
(©) LJ?EI? (D) 103
(i) St s

i
\g,’

\]/ If the simplc interest for 12 years be equal to 60%

of Ihe prmupdl then in how many years will the
sxmplc;nlunbl will be equal to the principal?
(B)
(D)
(E) u()ucsuon not attempted

At (2 4T <1 AT SATST 36 R H 60% B,
1 forad adl § ARy s, AV & SR W
ElLivg

(A) © i8 years 20 years

©) "

« \

”4 years 22 years

(A) ;ffié%?ﬂi wBy 20ad
(C) (24 (D) 22
() Cdrgafa wa

(d

JKL-Z10} =
e

-

g2

Y e
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o

Which city of Rajasthan was nominated (as on
September, 20244) for Wetland City Accreditation
(WCAN

Choose the most appropriate answer from the

options given below:

(A)  Jaisalmer (U) Jaipur
(Y Jodhpur (l)) Udaipur
() Question not nlsunplul

Prerfafera % A were w1 AL e e wd
ufprfEr (WL/\) Lgl qifier (e 2024 @ &
AR fesan &2

ﬁm%mm—qmémfammwm
(A) ST ey S

(C) S (D) ISR

(B) o W ()’

\ .
In which year did ln(l s Prime Minister launch
the 5G services? (\]
Choose the most appropriate answer trom the

options given below:™

(A) 2022 (B) 2019
(C) 2020 <! (D) 2021
(E)  Qucstion not ‘memptcd

W%Wﬁﬁﬁmaéﬁaaamaﬁww
foram

ﬁmﬁf%ﬁﬁmﬁ#w&a;mmaﬁ
’/(A’)/ 2022%  N)B) 20197

© 2020% S0y 20218

(B)  rgaia war

: ol - :

In financial year "0’73 179 million domestic
Wi

tourists and 1.7 mnlhon international tourists

U

visited Rajasthan, Tk\u\’wnmbutmn ot the tourism

sector to the state GDP is approximately:

'3, . ~
. Choose the most dppmprmtv answer from the

options given below: e

forcrand 2023 ¥ TREE A 17, ()a:ﬁga\—mfﬁa&n
17 e fereelt wfesh o 3N e & U
el YT ITITE W ST ANTET R

ﬁmﬁi\tmﬁ?wq}ﬁﬁ’waﬁéa?mwgﬁ
WA (2 J(B) 8%

)  10% c\! D) 12%

(E)  Question notatgempted / STxRa 21

LY
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For feeding cattle, goat and sheep. which of the
following is‘are not used as fodder crop(s)?
a.  Maize
b. Legumes
¢. Cotton
d. Rice s
e. Barley ) .'
Choose the mosrt appropria}q':nnswcr from the
options given below: r |
(A)  bonly (B) l"i hnd ¢ only
() banddonly (D) "¢ Onl\'
(E)  Question not attcmptcd
freferfied 3 & R waftrl, 3l ofie 98t & fo
ﬁ%wﬁmq‘zﬁ%mw
a. H&T < 3
b. Wil o
T N
d. 9™ '
e. S (S
i e T famedi 7 & waffares suges so
(A) FHaADb B) m a3fite
(C) FEAbIAd (D) %aa c
(E) SAfaiaws ; y

v/ Which of the following 1s’tr;ue about CARI-

SONALI? P,

E_.’. 1
Choose the most appropriate -answer from the
options given below:

(A) Commercially Brown egg laying chicken
(B) Dual Purpose Chickeﬁ;;;
(C) Commercial Broiler Chicken

. (D) Commercially White e;gé laying chicken
(E)  Question not attempled {

Frefatad § 9 & - vt lCARl SONALI) &
AW H T FE 77

ﬁwfanaaﬁmtmwaff&mmmaﬁ
Mwﬁwmmaﬂm%
- - o

[

(C) anforfeues drger fae, )

(D) Wmmha@ﬁw

(E) araia v 1
KL-z10] =

17

ot

In how many phases was the clection of the

Rajasthan Legislative Assembly 2023 held?

Choose the most appropriate answer from the
optmm given below.

TereT forurren 3 fod T 7073ﬁ—<ﬁwvnr{
Frnfaa frg

ﬁm%@ﬁ%m"ﬁéwaﬂ\mmﬁo: EAISCEE

(A) 03 o
55 01

©) 02

(D) 04 e

(E)  Question not attempted / iﬂgﬂf{?f q4q

Who among the following has NEVER (as on

September, 2024) been the chief. Minister of

Rajasthan?

Choose the most appropriate answer from the
.
options given below.

H

(A) Bhairon Singh Shekhawat .

(B) Diya Kumari -

(C)  Ashok Gehlot

(D)  Haridev Joshi

(E)  Question not attempted . !

et 3 8 i ol ot (e, 2024 75 3 SO
T e T W ;
Preferfert farereii & wrrtfires e S -
(A) W e ramaa

W R -

(C) 3T et

(D) efga st

() srafe wa ;'
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JQ//\ccording to the modified budget 2024-25 of

Rajasthan, how many rural houscholds will

reccive drinking  water under “Jal  Jeevan

Mission™?
Choose the maost appropriate answer from the

options given below.,

(A) 27 Lac
(B) 21 Lac
(C) 15Lac
(D) 25 Lac
(E)  Question not attempted

TS % fafdd a9 2024-25 % SHAR et
e {3 siarta o oo o a3 99 F e
TESH F1 e 87
Frefafae fawei g g HAITEE 39 et -

YK) 279m@

! (B) 21<m@
(C) 15¥m@
(D) 25@m@
(E) HAmiaud

\,8( Which of the following geographical terms is

associated with the climate of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Kaal Vaishakh
(B) Aamra Varsha
(C) ~ Mavath
(D)  Phoolon ki Bouchhar
(E) Question not attempted
frefataa 1 ®H-61 Jiifas werad Terear 6
Hefarg @ dafad €7
fefefigd famed 1 4 @affees yugw o a:
(A) A 4TTE
(B) g adi
) Hide

(D) it I

(E) TIuf@wd
JKL‘ ZIO ] =

bl/Most of the part of Rajasthan state comes unde;
. . 0
which of the following climate zones.
Choose the most appropriate answer from the

options given below:

(A) Tundra climate zone
(B) Equatorial climate zone
(C) Temperate climate zone
(D) Polar climate zone

(E)  Question not attempted

AT T T AT A e 5 F A e
frfafaa fasedl § 9 gaifaes 39gw 207 44:
(A)  ZUZI STaaTg &

o YRS SaaT] 45
(C)  =fiamm SeaTg @
(D) g STy &

(E) guiau4

\BZ/\VhiCh of the following rivers is not associated
with the Inland drainage system of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Banas (B) Kantli
(C) Mantha (D)  Kakni
(E)  Question not attempted
frefafea & § St 75 Toem ¥ s
HUETE O ¥ Gl T8 &0
Frfafes e g9 AT 397w ST
(A) =™ By et
1(C) W (D)  Fr
(E) rquf@wx
83" Which of the following lakes is sirated in
Rajasthan?
(A) Lonar lake (B) Nokuchiya lake
(C)  Pichola lake (D) Xoleru lake
(E)  Question not attempted
Frefafea § 3 S o TSI | feera 22
(A) SFR e (B)  Frferm s
ULy e sha (D) =ichs gie
(B)  orqafa uy

18
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84/.\ﬁik sugar is called:

&

Choose the most appropriate answer from the

options given below:

(A)  Sucrose (B) Maltose
(C) Lactose (D)  Fructose
(E)  Question not attempted - ;1
cq-w:rl"'TTﬁ )

ET=TRItELREE st} g UaTﬁI?ﬁ“UZ??ﬁ"?TTE’?:

w7 T (B) =

(C) a‘:—:ﬁ (D) %’7’3}'3

(E) gana 94 3

Match List-I with List-II:

List-I Llst Il

a. Gujjar Bakarwals 1. \/Iaharashtra

b. Gaddi II. Jammu and Kashmir
c. Raikas 111 Hlmacha] Pradesh
d. Dhanears IV. Rajabthan

—1!:11-1 = W"—T-H_TTWW

eI T

a. TS IEAad I. HAaw

b. T IL <P i e
Choose the most appropriate-answer from the
options given below: (=

W?qmmqawa?ﬁm—amwam
(A) a-TLb-IV,c-Ld-1~
(B) a-Lb-Ulc-I,d-IV

\,(Z)/a-II,b-III,c-IV,d-L:i,

(D) a-I,b-Ic-IV,d-
(E)  Question not attempted T &afa wa

(A
Maru Raikas settlements are caléd:
Choose the most appropriate"-\a}lswer from the
options given below: 0

(A) Basti (B) Iéiéo

(C) Bhabar (D) Dhandi

(E)  Question not attempted !
mm$ﬁmmm§’
ﬁﬂﬁr%aﬁmnamﬁ‘aa;mmgﬁ:
(o) Fh (B), T

© W zoh

(E) - rufa 9 L6y

JKL-Z10] == “

88

19

)?/ From the following physical regions of Fajathan,

which region shares its boundary with Pakistan?
Choose the most appropriate an-yer from the

options given belows:

(A)  Western Desert Plain Region
(B) South Eastern Platcau 8};giun
(C)  Aravalli Region i I,

(D) Eastern plain Region ¢ 1

(E)  Question not atthpu.d

Mg % MEfarga difs mvrm-:) a3 5T
FF-T1 47 IMFEAH = 414 A9 A157 515 74

TR

HH[{"HU"I I’«i?("ﬂquE”J?ﬁ Q’J?T' st '4—‘

Y o T 62 A5

(B) FamgHT=mas (!
(C) e &7 »
(D) 9= ¥=E 4= 13
(E) wisiia o4 =

Which of the following regions does not receive
irrigation water from the Jak)}%m dam project of
Rajasthan? :

Choose the most appropria't‘ei answer from the

options given below: f‘:‘
(A) Pratapgarh N
(B) Chittorgarh .
(C)  Udaipur i
(D) Bikaner (-
(E)  Question not anempte‘d‘:
freifaftad § Tod 1 FEET &% wTEd =T
afiter & fefeT et ST T AT 82
Freiferfian fredi & & waifires Tagw 39 .
(A) 9d™Tg o
®) fudemg
(C) T
(E) i@ wd :(f
) [ Contd...
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- (\,
WY Jatenal fertilisation does not oceur in
Choose the most appropriate answer [rom the
aptions piven below:
-\ leas (BY  Cows
(Y Dops (M Frops
(B Question not attempted
Foafelaa N A R sia:fnae =l dae
Rl [aweal 3§ Q wafforas sagw su
N il (B3) TR
() g (D) New
(1) wqaha s
,/
WO Deficieney of which of the following causes

cracked feet in poultry?
Choose the most appropriate answer from the

options given below:

(A)  Viamin D (B) Magnesium

() Zine (D) Biotin

(1) Question not attempted -

Frefiian 3 & fraeht et e 3 4t wed (e
EI2) 1 FHT 7
ﬁur%ﬁ@aﬁmﬁ&waff&a;wg?ﬁw@:
(A TaafEp (B) A=fiftrm
Lm/ TS (D) IR

(15 - srafEay

d)1/'1'hrcc numbers are in the ratio of 3:4:5 and their
L.C.M is 960, then the sum of these numbers is:

i deamn 3:4:5%3ﬂqmﬁﬁammm
FHIYEAE 960 T, T 5T TEsi 5 Ay 2.

)

240 (B) 144
(C) 192 D) 180
()  Question not attempted / miﬂfm a1
JKL-Z10] =

20

02/ The selling price of 10 articles is equal to cost
[V

. . e ain or loss
price of 12 articles. The percentage gain or 1oss in

this transaction is:

(A) 16 %—"«. loss  (3) 20% gain
(C)  20% loss (D) 33 "u loss
(1) Question not attempted

10 il o fershar et 12 TR % T A
T R 30 S7-37 T ST 27T &1 Rl Tfeme 2
(A) % B (B)
(C)  20% @ (D)

&y)/aﬂﬁ'ﬂ?mer

20% <™

16%
33 3% @it

ZIZ/Amil deposited T 2500 cach on 19 January and 1
July of a yecar in a bank which offered 8%
compound interest compounded half yearly. The
interest carned by Amit at the end of the year

was:

AMA T IF TR T 2500 Ygei A AT IRA
SIS 1 U e o 57 foram St 8% <ishafg s
AT R 3R S < SHIE Hafoa o St 2 a9 F

A T A AT ITH AT T H off-
(A) 308 ,(/B'/? 306
(€ T300 (D) T304
(E)  Question not attempted / agaﬁ—crw

% While doing a calculation a quantity is wrongly

instead of % .

ercentage the answer will ditter from the actual
g

multiplied by -% By what

answer?

qmmmzﬁﬁquﬁmmﬁn—mﬁ—

%m ﬁnm*‘rm%naﬂ?rﬁ?ﬁm%mzﬁl
wmmuﬁfmﬁma’hm

(A) m§ B) 1662,

© 177—" (D) 160%4

‘—(H/Qucslmn not attempted / Nﬂﬁﬁ?’fga
[ Contd...
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Ravi covered a distance of 2 km with a cerlain
speed. By what pereentage he should increase his
speed so that the time taken by him to cover the
same distance is reduced by 25249

rﬁ@ﬁrﬂawﬁz%ﬁaﬁaﬁmm%mﬁ
STl =T <R feremr siftrerer sy 3 annfire Rrard) 3¢l

T T HFH T I 25% F9 g
(A) 33 ;% (B)  25%
(C)  20% (D) 16 —%

\/([( Question not attempted / 33 LR

)/Thc average runs scored by a batsman in 9 innings

is 55. How many runs he should score in 10t

innings  so that his average runs scored

become 657

T SelaTst g1 9 WRET § 319d 55 79 S=747 Say
21103 IR F 5 fere T 5Tw o6 39 i o7 aftea
65 1 ST

(A) 165 B) 155
_pe)/ 160 (D) 145
(E)  Question not attempted / STl v

}/ L.CMof2.4,0.36 and 1.08 is:

2.4,0. 36 ST 1.08 T TITH GHITAF 2:
(A) 216 (B) 0.36

(C) _-25.92 (D) 108
K()ueslion not attempted / T4t 94

'\,9[/ The smallest 5 digit number which is exactly

(N

"(7\)

divisible by 6, 7 and 8 is:
5 Sl 1 FIQ T WA A6, 7 S 8 F quia:

10056 (B)

”JL»- b
10080

Question not mtemplcd / STt 94

\)c)/ 10168

(E)

\‘))/ Seema invested 5000 cuch in two different
banks atsimple interest for 2 years. The difference
between the simple interest received from these
two banks is T8, What is the difference in the rate
of interest of these two banks?

i1 3 A1 stem-Aaem AE i e b 7 5000 5
AT 4TS 07 2 A7 fem fo Ty 271 o5 &2
TR {IGWT AT T A7 2 & 2| 29 2141 451 3 2177
ST ST I 20

(A)  1.2% (B) 0.2%,
(C) 0.08% (D) - 0.4%,

\)Oﬂ/Approximatc age of sexual maturity of 2 buffalo-
bull is:

Choose the most appropriate answer from the
options given below:

Question not attempted / A7 g4

(A) 22 months (B) 15 months
(C) = 38 months (D) 2% months
(E)  Question not attempted

m-wﬁaﬁmqﬁqmﬁmmmj,m
ﬁﬂﬁ?@aﬁmnqmmww

EEE

WA 22 LSS (B) 159%
(C) 38uEM (D) 28°FH
(E) srgaitd v

\}61/Which of the following statements is incorrect?
Choose the most appropriate answer from the
options given below:

(A)  Metal oxides are basic in nature.

(B)  Almost all metals combine with oxygen to
form metal oxides.

(C)  Most metal oxides are soluble in water,

(D) Metals react with water and produce a
metal oxide and hydrogen gas.

(E)  Question not attempted

ﬁmﬁﬁanammrﬂmmrm
ﬁmﬁi@aﬁm—mnuwf‘mmm‘m

(A) ummmwszwf%memmrnrl ’
(B) < gedy AU ST O s1fafern w0
mazr STHUTEE =TT 8
e .ﬂfiﬁ?ﬂ OISl SRR o 6 RREMIE
wId dl
(D) qr.iu ST U sifafayy FA 3w JFT *
SIRIIEE ddr G C e 37T R
(E)  srmi uy

| Wt | Contd...
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Jood
Yol

s d all over Raj
W2 Sclect the incorrect statement with reference to | 104 “Goga Navami’” 18 celebrate AJasthay
metals. in memory of:
Clm?osc tpc most appropriate answer from the Choose the most appropriate answer from
options given below:
(A) Brominc is a very rarc metal. options given below:
(B) qq!!ilIIII melts when kept on a palm. (A) Devnarayanji (B) Tejaji
(C)  Sodium is so soft that it can be cut with a By ..
I s D) Pabuji
kife. (€)  Gogt ‘
(D) Mercury is liquid at room temperature. (B) Qucstlon not attempted
(E) Qudstion not attempted tﬁ: TIGTF&TFT ﬁ RpgehY =TS | T TIHT g Ei
YTl o wef § 0 o 1 < T S A 2 X
2l 1y oy
ﬁwﬁ—rﬁmﬁrﬁﬁﬁwﬁﬁmmmgﬁ ettt ferehed! 3 & @affers 3gw 3w 3,
(A) ST U R (A) FEmEeEt () Awmh
(B) ﬁ%maﬁﬁmt@ﬁ%ﬁwaﬁr%l #
e it gar 7 €T & R 58 ST @ e S (C) T (D) ISt
Tepell B (E) ST wr
(D) mmﬁ)mw%wwm (
BT el g
(E) aqﬁitﬁ EEl 105 Which ofthe following is not an example of 2
£5%
chemical change?
Concave mirrors are used in-
a A tor(_;h Choose the!mmost appropriate answer from the
b. Sidg’_nginor of vehicles options g;ven below:
c. Head lights of vehicles _ =2
d. Solén i:ookers (A) Burmng of magnesium ribbon
Ch?oses,t‘l?e most appropriate answer from the (B) Rustmg of iron
options!given below: §7
(A) bandc only ©) Forr_r;atlon of curd
(B) a,bandc only . ..
D) Crystallizatio
(C) b, gand donly (D) Crystallization
(D) a, c :and d only (E)  Question not attempted
(E)  Question not attempted "L
T 39 T ST P S & ﬁw%rf\@?iﬁﬁqmmﬁmqﬁaﬁ?m
Vi.(il?'rﬁt ER Y -
mzﬁmsamug?)a&urﬁ T N
Fefafaa fereneat I I
& T o deege i T HEULEELE J
d. ERFFH (A) Al e sterT
mﬁvmﬁmwawaf@mammgm ®) s
(A) Fadbmc - e
(B) FdTa,boie ©) <
(©) a;arfr b, ¢ 3 d ‘o
(D) a?aﬁf a, ¢ 3 d (D) E‘;gzﬁna;{“'
(B) oEeia (B)  Srafia wa
JKL-Z710] -”. — ' 22 i :, [ Contd.-
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e To rrevent musiing galvanised iron pipes are
) coatad wath:
Choose the most appropriare answer from the
opiions given below:
(\)  Nickel (BY  Copper
(Y Zinc (DY Manganese
(B Question not attempted
TECTIR S N1wAT 8§ QIR S UIE9 E S T
=ianaa aww‘iﬁémmmiﬁ:
AT EES (B m/arar
Q) = (D) HHr s
(E)  Iwia v
07 The Indian Wildlife (Protection) Act was

implemented in:

Choose the most appropriate answer from the
options given below:

(A) 1981 B) 1968

(C) 1972 (D) 1976

(E)  Question not attempted

I SS9 (HTE) sttt oy ger o:

ﬁw%f@aﬁaﬁfﬁﬁaaﬁa;mg?ﬁmgﬁ:

_/(A‘)/ 1981 § (B) 19681
(C) 1972 % (D) 1976 T
(E) Srquieaus

\}U’S/ The source book which keeps a record of all the
endangered plants and animals is called:
Choose the most appropriate answer from the
options given below:

(A) Black Data Book

(B) Red Data Book

(C)  White Data Book

(D) Yellow Data Book

(E)  Question not attempted

I8 |ia IRt (|6 9%) forad aft derera= aredt
SR SI=q311 =T SRET S W1 W1 74T &, el 8

ﬁ%ﬁmﬁéﬁwmwgﬁ:

(A) RFITATE B CIRITE

(C) =mee=Ig® (D) USRI

(E) 3raia 9
JKL-710] ==

23

}.@/9'/ Which of the following <tatement, s correct
about the red yellow woil in Rajasthan?
Choose the maost appropriate anwer from the

options given below:

(A)  Thissoil is formed by the fission of granite
schist and gnesis rocks,

(B)  This soil is found in Bikaner and Barrner
area,

(C)  This soil has enough quantity of lime and
nitrogen.

(D) It is not suitable for the farming of
groundnut and cotton.

(E)  Question not attempted

T 8 W1 reft 721 7 g 1 et 6

FI-TT F99 T 27

mﬁmﬁéwﬁwmwgﬁ;

(A) TR YRl v TgE qur e =z fammen
IRl

(©) T TETH FtH A & w7 397 Az e 2

(D) =& Tt et v i &t % e s
T ety

(E) SAgafayus

ll/lf()/According to the Census of 2011 which of the
following districts of Rajasthan had the highest

literacy rate?

Choose the most appropriate answer from the

options given below:

(A) Udaipur (B) Barmer
(C) Kota (D)  Ajmer
(E)  Question not attempted

2011 3T SFATIT 3 STgaT Trrer 3 Rl i
& form Forer Y avemar av wartfres of)
ﬁmﬁaﬁaaﬁmaﬁﬁﬁmff&a;mgmwaﬁ:

(A)  S5aq (B) et
© @ D) arTR
(E) et war

| Contd...




| ' . _ ) . > parts of the fur-..
\/Iﬁ Which of the following census years had recorded yd/Wthh of the following are the P

the highest sex ratio in Rajasthan? excretory system?

Choosc the most appropriate answer from the a. Ureter b. Kidneys

options Li\’CJ‘l below: c. Green glands d. Urethra
ﬁﬁ%ﬁgﬂ” ﬁ’H fora ad &1 ST § e o c. Urmary bladder
WWﬁ%ﬂTW’ Choogc,jhc most appropriate ansver from «-.

ﬁmﬁﬁmﬁizﬁmwm options&%ivcn below:

w(w 1" (A) él;) c and d only

(B) 1971 (B) 4fo,dandeonly

(©) 19<z1\:; (C) t; (): d and e only

(D) 2001 (D) a,it’i, d and e only

(B) Qlléq;g’on not attempted / Wﬁﬁgﬂ (E) g):écstion not attempted ‘

ok frfafay § § #H-9 99F S84 oF % 9F 2
10y (S
\D/Z/Arrange the follomng organs of respiratory a. % ‘(;‘0 b. = ’

system of human beings in a proper sequence in C. yﬁ%ﬁﬁ d. HFHM

order of 11181; occurrem;e: : e. AR

a. Tracllgré:i b. Alveoli i1 fag 'v: WTUHWFW_UW ERTECEE
c. Larylﬁg‘;:é d. Nasal cavity (A) f,ﬂ a,b, ¢ 30 d

e. Broncﬁi:} *E)/ ?:Baia a,c,d3ie

Pt ot o w9 1 e ot § S ©) FEb 0, d e

Fearfer T wh s  sgafier SR (D) FATa, b, d3fe

a.  ATgaehil b, ?ﬁm (ufiaireth) (E) iﬂfﬁﬁﬁﬁﬂ

. S -"]! =
c. &3 (i) d. TR o oo .
\- > ¥4 For artificial insemination frozen semen is
e. @G (siiehTS £ .
™ ) preserved at in liquid nitrogen.

N\
Choose the,mmt appropriate answer from the o ] . :
Choosethe most appropriate answer from i

5
options g "IVCn below: (]
- optlonslfwen below:

ﬁaﬁq%ﬁmqﬁwﬁbmamwml Eﬁnwmm%q%ﬂyﬁﬁamﬁzamaﬁ""

(A)  d,aigc,b W gfatar foar siar 21

(B) a, C d b, e ﬁmf%fﬁqafémnvmﬁ\wmmﬂ

©) d, c,nac b (A) —;96" LeB/—104°C

o7 e, d{*{i b,a © Loec (D) -160°C

(E) QuéStloﬂ not atiempted / 3TFTf w4 (E) gulestxon not attempted / TG 95
JKL-Z10] E 24 Cg [ Contd.-




HA/MI\ is deficient in :‘

Choose the most appropriate ;canswer from the
options given below: {

(A) (B)

(©) (D) Vnamm B
(E) Question not attempted

qud__ REad
ﬁﬂﬁmﬁmﬁﬁﬁaﬁwmmaﬁ
(A)  Hicaam (B)  frifie A
(C) e (3TaT) \Lm/Faaﬁqu
(E) FTaiaus (f

u/ Farming that combines crop ‘producllon with
livestock raising is called: (O

Calcium mem A

Iron

N )
Choose the most appropriate answer from the
-
options given below:

(A) Jhoom farming -
(B) Mixed farming ‘j’
(C) Dairy farming .
(D) Mosaic farming (=
(E)  Question not attempted €™}
e ICATET ST TI[E UTe, aﬁ”ﬁrm@?ﬁaﬁ
FEd &
Frfafad fasea g 9 Waffﬁlaﬁmmﬁﬁ
(A)  gH @
By b (ﬁm%q;r&m)
(C) s Wit )
(D) TS wITHT ()
(E) ¥R wd €
& \.

A shopkeeper marked the pglcc of an article
which is 20% more than its cqsty price. He sells
the article at a discount of 15%. What is his

percentage gain or loss?

gt
(A) 3% loss (B) S%jgain
(C) 2% gain (D) 3% gain
(E)  Question not attempted ¢

qumwmmaﬁ?ﬁm & Sl SUh
T g § 20% A 81 T g H15% 7
(agr)qvaaam?lvaaﬂamémqmﬁwm
1 2?

(A) 3% BT S% T
(C) 2% (D) 3% T4
(E) aitay4

JKL-Z710] =

4 lﬂ/Wh.ll is the principal amount \\Im,h carns X 24120
as compound interest for suond year at a rate ol
10% per annum? vy
10% sfe et 2 i et 26 ST 2 2420 B
TS o &9 3 910 7 ., ‘]TT‘TI AR

1y
(A T22.000 &BY 20,000
(€) " T 18,000 (D) T 24000
(E)  Question not nllcmplcd_/};’F\)ﬁlf{?[ s

.\“;

(l l)/ An amount of' T 4800 is 1o be (hslnlmlul amongst
A, B and Cin such a way llml th share of A s
40% more than the share of l!-.l_nd the share of ¢

is 20% less than the share of if.i’l‘hc shawre of *13°
is:

X 4800 &t T AT A, 13 31T C ?5 a1 5 weRT s
it B A o5 31 13 5 o7 10' Vo w1ferR R wern ¢

T AT B/ 20% FH 2 B & wgr_rrliz;

(A) 3200 (B) <1500
e
(C) T2100 ‘("’))/—F‘I 200
(E)  Question not attempted / Wf’fﬂ i

R

At
. R . .
A11(Asop forest block’ in Shahpura, Rajasthan is
developed asaconservationreserve for

L .
Choose the most appmln'm'tc Janswer from the

options given below: Ty
(A)  Tiger (13) 'Chmel

(C) Black Buck (D) l’cucuck

(I2)  Question not dl(unplul i

T BT Bl AT, n—m:m 0o ¥
TTEIOT Frrcf (ehoreterr fsrel) < g if ﬁm&m feton
ﬁ{ﬁ{ﬁftlﬂ &rﬁtﬁﬁ(l?ﬁfﬁ)mmrr SRERICE
(A mmEdTw) ‘
HCY = (D) M

(1) oraft ux

25
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A{Which of the following are the main causes of

27

deforestation ?

a. Building houses and factories

b. Using land for cultivation

c. Conservation of wildlife

d.  Making furniture

¢. Toimprove soil quality

Choose the most appropriate answer from the
options given below:

(A) a.banddonly (B)
(C) b,canddonly (D)
(E)  Question not attempted

F’mf‘a%an%m%aﬁ:raﬁqﬁg@m

a, b and c only

a, b and ¢ only

&

a. 9 IR F@ET 1 Fmior

b. @t & fou s = w5

C. FISIGT T GTEIT

d. w=REIHF fau

e. T&T <1 TUTErT & FuR & fog
ﬂaﬁqwﬁmﬁ&mmmﬁ

(A) Fada,b3id (B) Faela,b3ifc
JSy Faab,c3d (D) FaeTa,b3ie
(E) 3Iguiag=

Which of the following is an artificial setting for
protection of wild animals?

Choose the most appropriate answer from the
options given below:

(A) Wildlife Sanctuary

(B) National Park

(C) Biosphere Reserve

(D) Zoo

(E)  Question not attempted

T F wwr % faw frefafag § @ o
a2

ﬁmﬂf@ﬁﬁmn&mﬁbmsmmﬂﬁ
(A) == aragmog

(B) T 3am

Ly A frord

(D) fafsmm

(B) oafamg

T L R T T PR AT

b/z3/ Arrangc‘ the following districts of Rajasthap in

descending order according to population dcnsity

in 2011 census?

a. Bharatpur
b. Jaipur
c. Ajmer
d. Alwar

T % fefafaa fret #2011 H e 3
AN T FHEA 97 6 TR a0 3y
afeera Fifam)

a WO
b. S
c. ST
d. 3clal:

Choose the most appropriate answer from the
options given below:
= g e fasreat T @ wafﬁz}a; ST I |
(A) a,b,c,d
(B) b,a,c,d
(©) b,d,a,c

UPJ b,ad,c

(E)  Question not attempted / 3TFxfd 7%

m/ Which of the following soil is found in western

Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Red and yellow soil.

(B) Mix red and black soil

(C) Alluvial soil

(D) Desert soil

(E)  Question not attempted

forerferaa ¥ sRa-elt e afdpdt arreer & auf sl
8?

Frfaae fraredt if & aatfas soge FaC T
(A) dTeT ST et 7ar
By fuftra et af et e
(C) weilgwyar
(D)  wEEe &
(B) orgaf g
[Cont(l...
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\1/26’ Which of the following is not a viral dise

,/
125" “Which of the
prevented by using vaceine?

tollowing  diseases cannot be
Choose the most appropriate

answer trom the
options given below:

(A)  Tubereulosis (T.B.)

(BY  Small-pox

(Y Hepauts

(D) Scurvy

() Question not attempted

P 3 & fe 3 w1 dwein ar s
ERISISCIRS,

frefoiea faseat 1 9§ waf&mammaﬁ
(A TRE(TB) (B Fuw
JO TRRfE (D) et

(E)  31guia wyy

ase?

Choose the most appropriate answer from the
options given below:

(A)  Typhoid (B) Cl_iicken pox
(C) Measles (D) POlio
(E)  Question not attempted*

ﬁmnqﬁqm@%wm@m)wﬁaﬁﬂﬁ%ﬂ

ﬁw%ﬁaaﬁ*ﬁuéwaﬁ\mmmaﬁ
[APEIRES (B) %{WW
(C) @Y (D) diferr

FTaRa vy i

(E)

Who is the goalkeeper for team ‘Hockey
Rajasthan’ for 14" Hockey Indla Junior Men’s
National Championship 20247 >

o

Choose the most approprmm answer from the

options given below. ‘

(A)  Meraj

(B)  Himanshu Kumar Shanna
(C) Lovish .
(D) Anurag Suthar

(E)  Question not attempted® !

14ﬁ?ﬁmaﬁmwméﬁwﬁmvouﬁ
I ] TS aﬁrnaﬁqrﬁ?%?

fr=fafaa faeedi & @ gatfas mmaﬁ

(A) TS
(B) femig Fom wmt
(C) wifaw
UBJ ST gar
(E) maﬁaw
KL-710] =
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yd

128 What was the ranking of India in Paris Olympics
2024 Medals Tally?

Choose the maost appropriate answer from the
options given below:

(A) 72 (B) 69t Z
(C) 70w (D) 718 l
(E)  Question not attempted

’o“ﬁﬁqﬁaﬁ*mm?ﬂ%‘—mmﬁﬂ“

T 9T
Frafafad freedt § 3 waifos 7 37 T4
(A)  724f (B) 69,
(C) 707af oDy 71ah
(E)  17uf@ wa 1

129 Who among the following presmted the Annual
Budget. for the Government ofRa_)asth:m in July.
20247
Choose the most appropriate answer from the
options given below: ~4
(A)  Shri Gajendra Singh I\hm\\sar (Khimsar)
(B)  Shn Kirodi Lal Meena
(C) Shri Prem Chand Bairwa * ]‘
(D)  Smt. Diya Kumari o
(E)  Question not attempted ;
P & & e g 2024 e T A
aﬁa;aaszwr
ﬁmﬁ—tﬁaa%ﬁﬁqwﬁm*w—w I
(A) st oz fig Reamr Ramen
By sft ot e om '
©) #fima=dw < ?
(D) sfiweit fear Fam L
(E) i s =

930 According to the modified budget 2024-25 of
Rajasthan, what amount in Rupee goes towards
interest payment? . ~‘
Choose the most appropriate I]ﬂS\\Ll' from the
options given below.
(A)  T0.07 (B) z 1'0
 © T I172 (D) 97
(E)  Question not munpxed L
TSR & gftafdd a1 2024205 & SR I 7
et & R v s
frfafee e 3 @ HAT J9gw a0
(AT R 0.07 (B) 21092
() .72 (D) T 8.9
(B) igaf@ wy
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Which of the following state has been paired with
Rajasthan ander the *Ek Bharat Shreshia Bharat™
seheme of povernment of Indin?

Choose the most appropriate answer from the

options piven below,

(A)  Jharkhand (1) Manipur
(€Y Telanpana (D) Assam
(1) Question not attempted

ML QEHIR A ARG s aitd A e % dua
Pz 3 Q s s e s AT ar e
AR fow v @eredl § Q) ARt Iuges St T

A FIRGIE (3 nfir
(C) Qe (M) smm
(1) srqaf@ wa
“//
132 The *Trinetra Ganesh Ji** Temple of Rajasthan is
located in:-
Choose the most appropriate answer (rom the
options give below,
(A)  Kumbhalgarh Fort
(B)  Jaisalmer Fort
(C)  Ranthambore Fort
(D)  Bhangarh Fort
(E)  Question not attempted .
T <Rl e Tore S Gfe st feera 29
Trefefea foasredt 3 & aatfies sugem sw
(A) Fuarg frar  (B) St femer
( iR fFar (D) e fre
(E) <Iqmfa a4
33 Recently in 2024, Rajasthan’s Animal Husbandry
and Dairy Minister launched camel milk with the
brand name:-
Choose the most appropriate answer from the
options given below:
(A)  Amul (B) Saras
(C) Nandini (D)  Urmul
() Question not attempted
BT €1 2024 nwmmqulqrmuagqﬁq—ﬁm
aﬁﬁmmﬁmm‘f':{mnﬂmqmw
Frfatea fawedt i @ waffos 3UGH I 3—:;
(A) & B) wwm
ey A (D) wfq
(B) a9
JKL-Z10] =

e A ST AN T

T Y N L e T ey
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13/ Which of the lollowing is not correct aboyg the

National Mission for Green India (GIM)?
Choose the maost appropriate answer frop, the

options given below:

(A)  This mission has adopted an integral cr,,
seetoral approach.

(B) It is one of the ninc missions outline
under the National Action Plan on Clipyg,
Change (NAPCC).

(C) It aims at protecting, restoring gy
cnhancing India’s  diminishing  foreg
cover.

(D) Itenvisages a holistic view of greening,

(I})  Question not attempted

aft e & fore i sifem @oae fem
1 2feam (GIM) & ged | SBH-9T Fod 97 74 &
freferiea ferehedt § @ wearfferes 3o 3o =,

(A) 3@ fm 3 & muw SFa et EilzEap
ST B

(B) TE SIctary] Uiad O W & AT 5 3
wftad AfaET (e (NAPCC) 5w

2
&c/m?wmmmmm & =T
AT 37 STQTaT 37 R
(D) %M%mgﬁaﬁwﬁqﬁwv
2l
ST W

.m/(E o
35  Who amongst the following Rajasthani womer

players got the Arjuna Award in 20237
Choose the most appropriate answer from the
options given below:

(A)  Avni Singh Rathore
(B)  Bhawani Singh

(C)  Divyakriti Singh

(D) Mohana Singh

(E)  Question not attempted

Frerferfen troremht nften Raenfe & & af 2023
ﬁﬁﬁqﬁaﬁqwmm)
ﬁnﬁ&mﬁa@‘rﬁﬁmﬁa&vmmﬂ
(A) 37 e vk

VB i

© foasfy fim
(D) Hrerfyg
() i war
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2% WZisk ol s followizg Sversis in Rajasthan?

2 2 mosT gappropriale answer from the

(By ==
(Cy o931
~
J.i)/mqmu
{Ej SaEi@ay

JKL-Z10] =
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milk can be deteeted hy

LOUSE e most appropriate answer from the
rnariven

Bl Vo

'8 lodine wlution

‘Cy  Elezching powder

(D) Chzlkpo ’.dcr

(Ev Ouestion not ane mpted
?’"5-:1'2;’77’:??737_'4 7 _ﬂm'm
=S S SEAT A

m=EE (9w 8 G Aaifae Taa T T T4
(A) T==i= A=

(B)  “mErEdam

(2] s ErE (e e

(D) ==t .
(E) %—;um’i"]

1 Match List-I with List-If-

List-I (Product) List-II (Description)
2. Buner milk I By - product in
preparation of

chhena and paneer

b. Skim milk . Soft drink made
of whey

c. Whey II.  Fat separated milk

d. Whevit IV. Fluid obtained by

chumning of cream
into butter
EI-15 979 -1 =57 firei i
-1 (IeTE) TEit-11 (faawom)

a 9 ~N L. ‘WTHR‘FYT(
Y T 8 39 - IR
b femfes . I S FuHgamam
c. éﬁmwﬁ@&nu. 41 Ued g
d. = .7 N v, o e wees
BEIER: 8311 i Tt fe i 131

Choose the most appropriate answer from the
oplions given below:
Wﬁmnawﬁwmmw

u( a-1V,b-Le-11,d- I

(B) a-ULb-1,c-1V.d

© a-lll,b-l.c-l\’,d-ll

(D) a-1V,b-llLc-Ld-N

(E)  Question not attempted / Nﬂﬁfﬁ' T
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JK There arc 40% girls and 60% boys in a class. If
the numbcrEﬁboys in the class is 7 more than the
A_.

number of girls, then the number of boys in the
1
-

o

qa:smﬁmo) refirat 3t 60% s 81 afs Har
ﬁa@ﬁﬁu@fa@ﬁﬁﬁﬁ? Irferes B, o whem §

class is:

T I EET R
w20 ok
-
By 25 ¢ ud
o)
©) 22 &
W
b@)/ 21 C:g
(E) Questlon not attempted / STTARG T

.~ . :
J43" The averagér:o‘f 9 consecutive natural numbers is
o

‘A, then theaverage of the 5 largest numbers out
] )
of the 9 nungp?rs is:

TR 9 WTHfs GEarell i 3ed ‘A’ R, |l 37

9 HrEATeit .S Tl Sy TS w1 e
(&) A+l =
(B) A+4 C.\!
(!
M A+3nd
(D) A+2 el
(.
(E)  Question not attempted / 31331&'(’1’ qq
k"";i
A ,i
43" The averagc of first 11 multlples of 13 is:
13 % 7| L;L\gvﬁnw Hr|a &
o
o791
| (B) 76 €
© 78
|
‘ Do)y 77
(E)  Question not attempted / STaft %
JKL-Z10] =

1w 0 SN TENTILRIGEIORTA roem

14‘:1/The main objective of “Heal in Rajasthan” is:

Choosc."tvlic most appropriate answer from the
options given below:

(A) .1\ schcmc for large scale afforestation in
Ra_].\sthan

(B) T,Q‘rccovcr Rajasthan tourism from the
losses during Corona period.

(C) To>establish hubs for medical tourism,
catering to both domestic and international
tourists for secondary, tertiary and
quﬁrtemary care procedures.

(D) To promote Rajasthan folk festival at
mtematlonal level.

E) Quesnon not attempted

‘zf’lﬁzt{tremm” Hifer = TET ST T R?
ﬁﬁmﬁmﬁ%wﬁwmmm
(A) mmﬁa%wqtq’mrﬂwrfa'—ﬁwmﬁ
ek AT
Wﬁﬁmmﬁg&ﬁ%mqﬁaﬁ

(©) Wwaaﬁ@qqﬁzﬁ%%ﬁﬁ%m
qﬁa%afa?ﬁﬂﬁ el qUT A ST

%maﬁ%%ﬁéﬁwﬁml
(D) TSTE ¥ % Seqat H SE W W
EEEIRC|
(E) aagﬁf{aw

\,14/ The Government of Rajasthan notifies ‘ Amnesty
Scheme-2024 for settlement of dues in-
Chooseitlie most appropriate answer from the
options{given below:

(A) Sta}e and Centre GST

(B) Pre-GST

(C) Post-GST

(D) Fii‘&hre GST

(E) Questlon not attempted

mﬁmm ARAES AIST-2024" fofg Tl

1 FueH.eq 87

freffa et § & waffis Fag FACL:
NISd m“zr FHE GST
- (B) GSTw

(C) GST %mm Eal

(D) wfI=a-GST &

(B) orgaf@ws
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’l}t( Who chaired the Apex Committee of the ‘Natignal
Clean Air Programme’ on ‘Swach Vayu Divz;s’
(International Day of Clean Air for~Blue' Skies)
held at Jaipur in September, 20249
Choose the most appropriate answer from the

options given below:

(A) Bhajan Lal Sharma
. (B) Bhupendra Rana
(C) Bhupendra Yadav
(D) Bhupendra Rawat
(E) Question not attempted

D Y fegw (fist s & fae wws an
Stifi fem) w femr2024 # srq & T
T Tro ST s oY wre wiftifer it svemarar
o i

Pt femedi 3 & wraifie suge s g
(A) ST ATeT 3t

(B) =T

© E=IRT

4P) T

(B) SrgaRa s

ly/;Vhich of the following Wildlife Sanctuaries is
situated in Rajasthan state?
Choose the most appropriate answer from the

options given below:

(A) Annamalai
(B) Shant Ghati
“(C) Ramsagar
(D) Bandipur
(E) Question not attempted

fr=fafaa & & SH-91 g=asia SRy UsEa™ o
fema?

ffaRaa fasedl § & waffaes sugw SR H:
(A) e |
(B) riqET
TR
(D) &I
() IrgaRawA | 1,28
JKL-210] = &\)é@@\éb, o

31

1,4‘8/Which of the following rivers of Rajasthan falls
in the Gulf of Khambat?

Choose the most appropriate answer from the

options given below:

Chambal it

(A) Brahmani (B)

(C) Mahi (D) Banas I
(E)  Question not attempted (;
T & e At e & S 7 |
G i @ret o fiedt 27

FrfaR forepedt 3 & waifores sugw 3o i

(A) SRt (B) =r=ie

(C) = ERL

(B) STqufawe

\M(Kolayat lake is situated in which of the following

places in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Kota (B) Udaipur
(C) Bikaner D) Jaipur o
(E)  Question not attempted

TSTEA ¥ i 3iier Frefefaa o svet e 29

Freffern forevedt § & wraffires suges s o

A) F g

(C) s (D) W

(B) gaiawsy

Ml which year did Maharana Bhupal Singh ascend
the Mewar Gaddi?

Choose the most appropriate answer from the

options given below:

e are 3w gt fRfe 3 A e WAt
Freaferfia et i & wrarifires suges s
(A) 1934 (B) 1930

«€j 1931 (D) 1932

(E)  Question not attempted / 3TTad T
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